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M = AL1C

o S TNRILIL:
S B . SACK. SOCKET-BUFFER. WiskEELRINZE

. IRFPHE A/, IEEMSS-k-websockets Wi FE




i |ip.addr eq 106.78 =

and ip.addr eq 192.168.2.9

No. Time Source Destinatiop Protocol Length  Info
1372 11.185665 192.168 | 106.75m = mn TCP 78 50569 - 1314 [SYN] Seq=0 Win=65535 Len=0 MSS=1460 WS=32 TSval=1565213944 TSecr=0 SACK_PERM=1
1373 11.231228 106.75..M 46 192.16m W.9 TCP 74 1314 - 50569 [SYN, ACK] Seq=0 Ack=1 Win=14020 Len=@ MSS5=1412 SACK_PERM=1 TSval=2742972314 TSecr=1565213944 WS=128
1374 11.234487 192.168 W 106.75. ™ 246 TCP 66 50569 - 1314 [ACK] Seq=1 Ack=1 Win=131584 Len=@ TSval=1565213991 TSecr=2742972314
1375 11.243478 192.168 || B 106.75 JJi},246 HTTP 445 GET /socket.io/?transport=websocket&ticket_id=9c394a175508edfcd3d1db3b7bc8008d HTTP/1.1
1378 11.287888 106.75. m R46 192.16Em u9 TCP 66 1314 - 50569 [ACK] Seq=1 Ack=38@ Win=15104 Len=0 TSval=2742972371 TSecr=1565214000
1379 11.288716 106.75. W 246 192.168 m 9 HTTP 195 HTTP/1.1 1@1 Switching Protocols
1380 11.288720 106.75. ™ 246 192.168 9 WebSocket 164 WebSocket Text [FIN]
1381 11.288777 106.75.] a6 192. 1680 WebSocket 70 WebSocket Text [FIN]
1382 11.294555 192.168 ) 106.75. w246 TCP 66 50569 - 1314 [ACK] Seq=380 Ack=130 Win=131456 Len=0 TSval=1565214048 TSecr=2742972372
1383 11.294563 192.168 ® 106.75.mm 246 TCP 66 50569 - 1314 [ACK] Seq=380 Ack=228 Win=131360 Len=0 TSval=1565214048 TSecr=2742972372
1384 11.294565 192.168 B 106.75. ™ 246 TCcP 66 50569 - 1314 [ACK] Seq=38@ Ack=232 Win=131360 Len=0 TSval=1565214048 TSecr=2742972372
1385 11.303159 192.168 || p 106.75. 246 WebSocket 73 WebSocket Text [FIN] [MASKED]
1386 11.347543 106.75. m 1246 192.168m w9 WebSocket 69 WebSocket Text [FIN]
1387 11.378196 192.16¢ 19 106.75.mm 246 TCP 66 50569 - 1314 [ACK] Seq=387 Ack=235 Win=131360 Len=0 TSval=1565214130 TSecr=2742972431

11.576001
11.619905
1471 36.347675
1472 36.384300
36.585597
36.629092
36.763569

192.16¢
106.75.
106.75. m 1246
192.16¢ 19

106.75.
192.168. 0 [TCP Keep-Alive ACK] 1314 - 50569 [ACK] Seq=235 Ack=387 Win=15104 Len=0 TSval=2742972703 TSecr=1565214130
192.168y w3 WebSocket 69 WebSocket Text [FIN]
106.75.mm R46 TCP 66 50569 - 1314 [ACK] Seq=387 Ack=238 Win=131360 Len=0 TSval=1565239085 TSecr=2742997429
[TCP Keep-Alive] 50569 - 1314 [ACK] Seq=386 Ack=238 Win=131360 Len=0
[TCP Keep-Alive ACK] 1314 - 50569 [ACK] Seq=238 Ack=387 Win=15104 Len=0 TSval=2742997710 TSecr=1565239085
106.75. WebSocket WebSocket Text [FIN] [MASKED]

192.168 m B WebSocket 69 WebSocket Text [FIN]

106.75. ™ 246 TCP 66 50569 - 1314 [ACK] Seq=394 Ack=241 Win=131360 Len=0 TSval=1565239508 TSecr=2742997890

106.75. [TCP Keep-Alive] 50569 - 1314 [ACK] Seq=393 Ack=241 Win=131360 Len=0
192.168 ) TCP 66 [TCP Keep-Alive ACK] 1314 - 50569 [ACK] Seq=241 Ack=394 Win=15104 Len=0 TSval=2742998192 TSecr=1565239508

[TCP Keep-Alive] 50569 - 1314 [ACK] Seq=386 Ack=235 Win=131360 Len=0

192.168
106.75. m 246
192.168 B
192.16¢
106.75. m 1246

1481 36.808200
1482 36.810848

37.066758
1484 37.110840

1525 61.804454 192.16 9 106.75. 246 WebSocket 73 WebSocket Text [FIN] [MASKED]

1526 61.808187 106.75. ™ 246 192.168 3 WebSocket 69 WebSocket Text [FIN]

1527 61.837187 192.16€ l o 106.75..:P46 TCP 66 50569 - 1314 [ACK] Seq=401 Ack=244 Win=131328 Len=0 TSval=1565264515 TSecr=2743022887
1528 61.849416 106.75. m 1246 192.16Em w9 WebSocket 69 WebSocket Text [FIN]

1529 61.851444 192.16¢ 19 106.75.mm 246 TCP 66 50569 - 1314 [ACK] Seq=401 Ack=247 Win=131328 Len=0 TSval=1565264528 TSecr=2743022929

[TCP Flags: ssksomickkAsoxSxk]
Window size value: 14020
» Checksum: @x50c8 [validation disabled]
Urgent pointer: @
v Options: (20 bytes), Maximum segment size, SACK permitted, Timestamps, No-Operation (NOP), Window scale
v Maximum segment size: 1412 bytes
Kind: Maximum Segment Size (2)
Length: 4
MSS Value: 1412
p TCP SACK Permitted Option: True
v Timestamps: TSval 2742972314, TSecr 1565213944
Kind: Time Stamp Option (8)
Length: 10
Timestamp value: 2742972314
Timestamp echo reply: 1565213944
» No-Operation (NOP)
» Window scale: 7 (multiply by 128)
b4 8b 19 67 7f 5e 12 dd bl 2a 85 64 08 00 45 00 ese0s™us
90 3c 00 00 00 @@ 35 @6 39 ca 6a 4b le f6 c@ a8 a®eaaaBs 9. ‘e
02 99 05 22 c5 89 db 7e 4c c5 6@ 9e 6b b6 ad 12 USa e (BN 8L 500

0030 36 c4 50 c8 00 00 92 04 @5 84 04 92 08 Qa a3 7Te
0040 6T 9a 5d 4b 44 8 01 @3 03 07
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